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Wil ¥ 1,50,000/- Al w2 waedl yedl ¢ avfl disdl & KIS wRa
HESEl 2L w2l d &0 s 189% 1 23 azidl AL

(83 5a el w2 4% Wl »usd qu GHIZ, QBN 3% sl dusd
AL 9. 212[4 T 3,000 ¥ st dul 413 oig TL600YsH. dal. 31-10-2013
YL del dae Al ywo s34 o -

50 48l T 2,600 ouadl 2isé 4l 2002 2 3.000 4 ~uall G%ed Gwir Al
15 42l ot séaidl Gia4 7 3100w @uadl 393 adl. Gi4a -ueik udi a<l
widell 80% 254 qyd 4 a4l 9.4

Bul [Qotdiql »uHz yauAd sREe 2uslaad wd daz st

Paresh of Patan consigned 200 tiles boxes to Arvind of Ahmedabad at invoice price
fixed after adding 18% en cost price T 1,400 for each box on 1-7-2013. Paresh has
paid following expenses at the time of dispatching the goods.

Insurance T 5,000, carriage ¥ 10,000.

Paresh drew a _four months’ bill of ¥ 1,50,000, which Hiren accepted and returmed
immediately. Paresh discounted it by 18% per annum.

Hirén is entitled to get 4% General commission on total sales and 3% Del-credere
commission on credit sales. Arvind has paid ¥ 3,000 for octroi and T 1,600 for

carriage. As on 31-10-2013 he has sold the goods as following :

50 boxes sold at ¥ 2,600 each for cash. 20 boxes at ¥ 3,000 each to Umed on credit.
Sboxes at T 3,100 each to Ukel as instruction given by Paresh. Ukel was declared
insolvent and 80% amount was recovered from him.

From the above particulars prepare account of consignee Arvind in the books of
Paresh.
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(A) e T 40,0004l 215 2l 10 33l Heaq s
7 6,000 <L, T 3,000 auﬂtjusmi 5N UL of (e i
uell4l €25 ¥ 32,0001 €Ul Gl Elun dmor by gyl g g [ﬁi{?‘iﬂ ALy
sal. sl oudl-t 1ell+Al Ao w4 2 4,000 o), =g ) BAAIAL siogy

¥ 1,000 oy .
ysail. ol MAl €25 T 50,0000 e8] Q) gl anlel] o pu o ML
qisdl 20yl Loaddl 250 gizay) P P

Prepare joumnal entries and prepare Mohan’
(B) A U8l 23 d i ey 2y -
Answer any two of the following :

(1) s Han [sei™i sl A s vidl Sl Ml 20 ¢ 7
AL A1 qHrAal |

Which accounts are opened in the books of Consigner ? Explain with
samples.

(2) o dusldul Asd el T 40,0000 6ulR 4L T 60,000, Huauel-) Y-l
Gz darl T 20,000 dur T 35,0004 acisfauid wld e © wd
T 15,0007 2L 2285 89 ot ML 208 2% 2 AEL 208d 5% Sl
dl sl sa 2usd sedl My ?

If consignee has$old goods of € 40,000 for cash, ¥ 60,000 for credit, ¥ 20,000
on credit as per c¢omsigner’s instructions and I 35,000 consignee himself
purchased. Closing stock.is ¥ 15,000. If 2% General commission and 5% Del-
credere commission then what will be the total commission earned by

consignee ?
(3)  dARL A S Mid 9L dFlad uHAdl.

Distinguish between sales and consignment.

(C) A isfauB s wanixll 4l 4313 AndAdul wa wule ely dl ddl
[Rnelidl 3l Ad 2142 2y © d wxadl. 2
If the consignee has distributed goods from consignment goods as sample for
advertisement then what will be accounting effects in the books of accounts ?
AHYQV/OR

400 34l sl duar Hsda wagelld T 6,000 dat >uslaul T 3,000 vl
s3e. ol wvrel s 68 AU ¢y dl vl elsll Bud alal. Wl
12 ud 2lsmels T 500 dan dae Bad 2650 ©.

400 Radios were sent for sales on consignment. Consigner has paid ¥ 6,000 and
consignee has paid ¥ 3,000 as expenses for it. If 68 radios are closing stock then

find out closing stock value. Cost of radios were ¥ 500 and sales price were
T 650 of each.

s account in the books of Consignee.
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2. (A) Al ledacusl ¢ 2ls anu 8. dvil wsdr Bid 4z 15% 2adld arvud

WA Hsd 9. areid 3addl dadmm Ass eRei ¥ 2uda el olsdi e
AU v o suaai wud 8. A4l Fodl il W wilEan

DM-141

Al eMYRL Wi vty dur s

ETT dl. 1-4-2012 dl. 1-4-2013
®) )
wels-yo [ud 50,000 60,000
EALEIR] 40,000 35,000
ELET PP 1,000 v
5(Hyz | 30,000 ?

4 2012-13 et AasiRl N3 Y ©

aotl oy g3 ol (Hd T 2,20,000-1L e sl ©.
ato) quiell 7 8,000+ A urd sl ©.

szl 2 4.00041 awaviy widladl 8.

LAl T 4,000 Md YR 524 €.

AL 2iss daRt T 2,50,000 53¢ 6.

5 el T 3,55,0004 53¢ ©.

yeyzel Wl T 3,500+ uuL ©.

Sl o g ueyzel W e 15,000 Hlsdars.

-

yuy wiEA avil We st 6,000, 49UR-L X 20,000 asl TR ICTREETE B EA T

Z 6,000 454l 8. $FHU YR110% 2L ARl ©.

Shri Hiteshbhai have 2 branch at Haripura. He adds 15% on cost then sends it to the
branch. Haripura branch depoesits all daily cash received into Head Ofﬁf:e’s account
in Dena bank at Haripura. From the following particulars, prepare Haripura branch

account in the books of Head Office.

Particulars On dt. 1-4-2012 (X) On 1-4-2013 })
Stock at Inveice price 50,000 60,000
Debtors 40,000 35,000
Petty cash 1,000 ?
Furniture 30,000 ?

Transactions during the year 2012-13 are as under :
Goods sent to branch at invoice price ¥ 2,20,000.
(ioods returned to head office at invoice price T 8,000.
Bad debts written off by branch T 4,000.

(oods returned by debtors ¥ 4,000.

{ 'ash sales T 2,50,000
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Total sales T 3,55,000
Petty cash expenses T 3,500
Remittance to branch for petty cash ¥ 5,000 by H.O.

¥ 6,000 for rent, T 20,000 for salary, T 6,000 for carriage and Octroi are the

» '
F:;ei?::; paid by head office for the branch, Provide depreciation 10% on

2. (A) cuaRHdl ddadA sl oyqoug w5 WA vt 42d B, dl 31-382 2o
Al WAL wavz )] oy dlay 5 W ¢ -

dy18l T 2,50,000
dotelzl 2 4.000
o 2l v oudl 7 1,00,000
n3l 2els 2 70,000
IRl 225 236,000,
s(Hy? Z 35.000
AT T 25,000
drlé Sl ¥ 16,000
2UBHAL Wl T 20,000
65 viid % 14,500
w5 ey w2 ¥2,500
wlew 412 % 50,000
Yoy l5Adl vad g 2 1,20,000
quit-ll wifed :

26,0001 3 Heky . w3 75,0001 Ass wel wka ©.

Guz-ll [@oIdiAl 2l AWML, A§L-sl Wi dal W 484 QUi s,

Govardhan agency of Bhavnagar has an independent branch in Bavla. Closing
balances as on dt. 31-3-12 are as under :

Sales < 2,50,000
Creditors < 4,000
Credit balance of H O < 1,00,000
Opening stock < 70,000
Closing stock < 36,000
Furniture < 35,000
Debtors < 25,000

DM-101 4
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Bills receivable < 16,000

Office expenses X 20,000

Motor car % 50,000. Goods received from H O ¥ 1,20,000.
Additional information -

Goods of ¥ 6,000 is in transit and cash of 2 5,000 is in transit.
On the basis of the above prepare Trading Account, Profit and Loss Accourigh
Balance Sheet.

(B)  ltiell siSyet Gy e 2l -

Answer any two of the following : .

(1) Rda ww ved g 2 wda weirit ael 9 Ad Aviy Geleel e
Aandl.
What is dependent branch ? How are the accounts of sueh branch written ?
Explain with example.

(2) welldeui wdan-l dsed s av 91 e 3 Gad R 25% sl
2ol dual - e ua ya Byl ud dWsdl 2l 6. AL @2l

BUHLT UL 2mz 22lsHl Bad alal

WMl %31 225 T 50,000, ulbiddlsdd M@ T 3,75,000, i YR
53¢ WA T 30000, WUl 53 sE QAL T 1,50,000, GHR A8

¥ 3,50,000, eULR WRd 2@ @ 12,000.

Pratap of Palitana havé a branch at Modasa. Goods are send at cost price _fnr
sales with instruction to add25% profit on cost. Find out value of closing

stock from the following details :

Opening stock ¥ 50,000, goods sent to branch ¥ 3,75,000, goods returned by
branch T 30,000, Cash sales ¥ 1,50,000 and credit sales ¥ 3,50,000, goods

returned-by debtors T 12,000.
(3) v feuel 215 2 teRlHl welaal Aladl Id axeal.

Explainméthod of wnting branch account by stock and debtors system.

>

3 AL Aani sl A4 Radl wid 48 6. w0 Rodld suaR deierl wd
euelziAl Mua Al sudl ail

Qarezldl u32ua-l sudl ¥ 12,000, NGl 132ud-l udl T 7,000, g Al
w3120 ¥ 70,000, 20O 2] gl 2 8,000, elddlL ysou ¥ 10,000, viile
WA R T 2,000, 2ss WGl T 22,800, dRieiRlA sl T 34,800, Hdd q2lq
T 1200, tasRll u3vuadl cufl T 65,000, g4 AW dwR T 2,75,000,
el Ol a3 vuadl oudl T 12,000 - v+l sl T 40,000, tuerRl wadl 4da
Hee T 275,000, tuniRld 2udd qaa T 5,000, HyR sedl wdvud T 3,500,
SR YR 534 M 5,000, dellédl-i Mot T 3,000, 258 duRL T 50,000 7
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Opening balance of creditors ¥ 12,000, Opening balance of b;

total net purchase ¥ 70,000, closing balance of bills payable l;lgsﬁggyit::f ! ?’PUU'
pa!'d '( 10,000, purchase goods return ¥ 2,000, cash purchase ?, 22 '800 Scfag;:ble
paid in cash ¥ 34,800, discount received ¥ 1,200, opening balance of deeglnrs
4 6?,000, total net sales T 2,75,000, opening balance of bills receivable ? 12 {}355
closing balance ¥ 40,000, cash received from debtors ? 2,75,000, discount a] i
4 5,900, bad-debts allowed T 3,500, goods return from debtors ¥ § 000 0:::3
received from bills receivable Z 3,000, cash sales ¥ 50,000. OB

AYWOR

30 (A) Al su veani sl DA [adl wda 8. B sund gy 31:3-201 34|
2% Y2 Hdi a1 alls [eauel dar 52l

fiasd-2al dl. 1-4-2012 (3) dl. 31-3-2013 (3)
2215 25,000 35,000
S AUELZ 40,000 50,000
s[-yz 40,000 (?)
481812l 15,000 20,000
258 Bras 5,000 4,000
M 23Rl YaeR] -

ezl WAl va4 wss Z1,61,000

qelelzld Ysdd 254 Z1,16,000
SNECTRET T 48,000

3uLs 2lssul Z 10,000

Pl 233 Rl 44 A T 20,000

254 dalel % 60,000

258 w3lel ¥ 42,000

detztzl vl wid qe1q ¥ 2,400

gAlEIl »UN4 q21a ¥ 3,000

wWile A Yzd ¥ 3,000

UG M4 Y324 ¥ 5,000

e TR < 4,000

slH42 Yo wal 12%
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Follow; i
Wu;g details are from the books of Mukesh Patel. On the basis of this details
Prepare final account for the year ending dt. 31-3-2013 :

Assets — Liabilities Dt. 1-4-2012 (%) Dt. 31-3-2013 (%)

Stock 25,000 35,000

Debtors 40,000 50,000

Furniture 40,000 (?)

Creditors 15,000 20,000 '
Cash on hand 5,000 4,000 4 \
Transaction during the year :

Cash received from debtors T 1,61,000 S
Cash paid to creditors T 1,16,000

Office expenses < 48,000

Cash withdrawal < 10,000 ‘

Capital brought in cash during the year % 20,000

Cash sales < 60,

Cash purchase ' 34

Discount received from creditors 3

Discount allowed to debtors 3

Purchase returmmed

Sales returned ,000
Bad-debts ¥ 4,000
Depreciation on fumi \ 12% p.a.

(B) ~lla-uxidl o3 d a8t LUl 7
Answer any following :
(1) alt »led 3 2 yyeadl.
entry accounting system.

T 40,000, %1€l T 2,00,000, 2uMz 22l5 T 80,000. S1AL 4StlL €2
A 18.5% ¢4 dl g4 el 324 ?

stock 1s T 40,000, purchase ¥ 2,00,000 closing stock ¥ 80,000, Gross
profit rate is 18.5% on sales then what will be the total sales ?

visidl leaell welamidl (el lsuell yala e [Rael avlld QR
zatetzi-l vadl [@adl 34l {d ala d Gelsel wd wyeaal.

When we conven single entry accounting system in double entry accounting
system how the remaining details of debtors can be find out ? Explain with
example.

(2

M’l Bi 7 PIIT*@L
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() sl sl weladl suleist woya
Explan hmtations of single entry accounting system

(M) AR el s A ey wWaaell eadan
LaeRl Rl T 12,0004 dellidl well.
Ll My dRerd g1 53] 2l ‘
Cive Journal entry and posting of following transactions in reles ant
A bill receivable of ¥ 12,000 1s receiy ed from a debtor
Said hill receivable 1s endorsed to a creditor.

1l M5l W
CCIEI T

Al WHE 22l

1A sl e e s s s W @l i dlul
ML 2 @l e dba byl A w2 1.0, 2000

e Ml T 25,000, 151U T 42,000, 4531 Wi
(5 50°0) ¥ 10,800

Wl T4200
2200
3 9.000 T 15,400

1 A ddl wyel Bya sl wmasd
DU AR s T 2500041 Bud s

MRS st 0 sieiRiA Rl 2w
U290 W
AS1- 51

AU WA wive A 3l
il wdl, g 4

A WA Rels W el d 42l G 3l ssial suou s wid
dute 3l -
Shri Narad v insured against all loss by fire. A fire occurred on pan
of the premi the insurance company settled the claims for T 1,10.400 as
follow

P es ¥ 25,000, Building T 42,000, stock destroved T 18.000. stock

o 0f value) T 10,800

1al loss © Wages paid toretain men ¥ 4,200,

Incidental outlay <2.200

Loss of profit < 9.000 T15,400

I'he plant and machines lost were old and had been enurely written off It is
decided to purchase new machine. The building were repaired at a cost of 2 25.000.
By expending ¥ 2,000 on the damaged stock he was able to sell it at the full price.
Prepare Fire Claim Account.

WYAWOR
DM-101 8
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(A) ﬂ‘g‘lqﬁi?l%;qst Madl Wty el sl s @ e fudl wia al Ry s
AL et el B 3el 14 alaumi 20 @ 2 Geteeel el .

How vy '« cor ‘ ire h |
- \lﬁu W uu‘ld ascertain the value of msured goods burnt by fire for presenting
your claim betore the insurance company 7 Explain with example.

4. (B) 31 %iaﬂj:l ¥2,70,000 Al sl gavuet-fl Wil QL stid gl AHY ASL MR
e 31-12-20124 AY Rl Adl il Aae € 21,00,000 ¢ 2l Al 8l
T 2,10,000 all. §t-sattet Wid ¥ 13,500 2l Wl GURANL AL sl ¥

U1 3,000 Ruz walal (Bl dasti @usl el
Al 1-4-201310 2y ol qell, 34 €1 dedls ugmatl »esl ad. Ml wallgd

Al 1-4-2012 ¢l 30-6-2012 ¥l st T 0,09.000 ag @ dy W <y 20134

Ael MMl Qe T 2.10,000 ¢ dl 31-3-2013 Y Y& SUTRCTCRUTER
201341

Qe T 22.50,000 ¢ . 1-1-2013 ) Sewetl YRl deladl
5

\
4R 3% 9y 151 Hag. sl uas dur s
Shree Joshi took out a policy of ¥ 2,70,000 for loss ot profit, period of indemnity
being three months. Turnover for the year ending 3 1512-2012 were T 21,00,000 and
net profit T 2,10,000 after charging ¥ 13,500 fop the fixed charges. Insurance is not
taken for fixed expense of ¥ 3,000 '
Fire took place on 1-4-2013 and as a result some of the activities came to a stand
still. Sales of Joshi during 1-4-2012 to/30-0-20T2"wWas T 6,09,000 and for the same

10,000, Salesfor the year ending 31-3-2013

three months of 2013 they were ¥ 24
of improved methods of

were ¥ 22.50.000. As and fromt |-1-2013488 a result

production, profit of 3% more would be realized on sales.

Prepare a statement of etaim.
WYAWOR

(B) -l elat-it [ilelH wHlBtd Qe ved 2 Al sl 3dl A sand

wid 9 d Fod@HAAl.
What is “‘standard turnover  in the accounts of fire clain
how it cafl beascertain.

(©) lA-ntidl sioust w5l AL AL

Answer any one of the following :
(19 e el 2ual 6 il wAel dael 2 20,000, wfls AL T 80,000 At

o] £2ui 2pudd deL T 6,000 el dl puad quel 32g sl ?

If the indemnity period 1s for six months. average sales ¥ 20,000, annual sales
Z 80.000 and turnover during indemnity period 1s ¥ 6.000, then what will be

short sales ”

wigbulees sl iRl
el bedl ¢l 9 ?

For the consequential loss policy what
period of indemnity granted ?

1 2 Explain in detail that

| opdedldl ayal 2y dual e Ao 89l

(2

is the minimum and the maximum

DM-161 9 P.T.O.
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8 llear e usersn wigdl ay laseyl e o, wal (s il daidl sl wua

WAl sy wedal (M d eud)

14

Maore than one answeis sre given for each question given, You have to select correct one
wilh necessary caleulations or justification for it. (Any seven)

(1

()

(3)

DM-101

Wl e gy sRMum 2 25,000 U2l wlss s s, il azui va
165 T 2,400 il wtivienl € 2,000, et dl yeaze wal

(n) T 12.400 (b) T 14,800
(¢) T 25400 (d) T 15,000

Duting the year 11 O has sent T 25.000 as petty cash. Opening balance of petty cash
wis ¥ 2,400 und closing balance was T 2,000, then the total expensés of the year |

(h) T 12,400 (b) T 14,800
(¢) T 258400 (d) T 15,000

Llamiol mdeia e o]l qad el WoZ 2,00040 A Ayl adls
e wly ol '

() “Wdeta wid Gy yal

(b)  olsemia wid Gy vl

(¢) el 818 “Ald wal Al

() wsamie wid Guiz il ol eir oudy qual.

The consignee has distdibuted samples for T 2,000 from consigned goods then
(a)  Advertisemen! account debit

(b) Constgnment account debit

(c) No journal will be
(d) Congignmentaccount debit and credit both sides

dAl, 144201241 %1% a["{iﬁrﬂ oit4l T 1,00,000 9. 21 sHaz wvud AL 1-7-2012
i Bl WlsAuHl U 89 dl 31-3-201311 A% 15% AW A DA el

si et A g o s(Huv Al gzl edl wy ?
ta) T 15,000 - (b)  ¥30,000

(c). T7,500 | (d) 17,300

Furniture balance as on dated 1-4-2012 was ¥ 1,00,000. This furniture was sent to
branch on dt. 1-7-12. What will be the Depreciation on Fumniture in the book of
branch at 15% p.a. by straight line method as on 31-3-2013 ?

(a) € 15,000 (b) 30,000
(¢c) ¥ 7500 (d) 17,300
10
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(4)

(6)

(7)

3
}la.:ll Rl&f 30,000, YRlEl T 1,80,000, 2w 2215 T 10,000, 51l 81 QLA
20% sl4 dl ga duw dog

(@)  ¥2,10,000 (b) ¥ 2,00,000
(¢)  ¥2,50,000 S (@) il 2sye -l

What will be the total sales if opening stock ¥ 30,000, purchase ¥ 1,80,000, closing
stock ¥ 10,000, gross profit on sales 20% ?

(@) ¥ 2,10,000 ®) 2 2,00,000
(©)  ¥2,50,000 (d) None of these

[ WL W2 oy A vud

(a) ME-(Hasd vidl 99 ©. (b) ¥4l vudl 29 ©.

(© Guy wi B9 6. (d) 55 vudl Bq 9.
For independent branch the account of H O is like

(a) real account (b) capital account

(¢} nominal account (d) profit and loss account

20l 1ML 56 (Hasdl w2 &e 2l © 2
(a) sty Hasdl

(b)) vaRdlas Biasdl

(€)  ARdlas Hasdl

Fire insurance providés cover for

(a) intangible assets

(b) fictitious assets

(c) tangible assets

ALslatd qad Auanidl del T 50,0000 W@ As, T 50,0000 A GUIR,
7 15,0004 M Aauell-l ya-el Gur ddd 9. A dd 4% sl x4 3% wel

28 HAQU WA 8ld dl dd Haa WA WEl 2tsd Iy,
(a) ». 26,500 (b) ¥ 1,800
& 74820 (d) 2uMizll 2Aswel

The consignee has sold consigned goods of ¥ 50,000 for cash, ¥ 50,000 for credit
and credit goods sold as per consigner’s instruction for ¥ 15,000. 4% del-credere
commission and 3% general commission is receivable, then total general

commission will be __
(a) ¥6,500
{c}) 4820

(b) 1,800
(d) None of these
18 r.T.O.
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(8) e AsUHlHi derluixi v wud ©. TR vl \
AL Widl sld ©.

(a) deeiRl, saeRl |
(b) Uss da, Al (
(c) widle iy, Biasdl '
(d) 2uniedl vlsye 1l

In pure single entry only is kept of j and only
accounts are kept in ledger.

(a) creditors, debtors '
(b) cash book, personal
(c¢) purchase book, assets

(d) None of these ‘

gdl SR AR 4 vilg GuId

(9 dmerid e dal 53 =
244 4 !
(a) deeRl % (b) dellédl, daerzl

(c) e ) el dellédl

If bills endorsed to creditor and it dishonoured then account
i account will be credited.
itors, debtors " (b) bills receivable, creditors

(d) debtors, bill receivable
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